PACKING LIST FOR FCV588

Box 1 - FCV588
Part No.
FCVv588
100-330-842
001-384-460
100-329-371
000-156-405
000-155-849
100-332-651
100-329-441
100-330-851
000-167-455
000-167-545
000-167-405
000-162-679
000-162-610
OME-238-90Z
MLG-238-90Z
C22-005-04z
MDC-238-90Z

© 00 N O o~ WDN P

e e N o e =
0N O WNRO

Rev 12/15

Wt: 8Ilbs. Dim: 12"x 15"x 8"
Quantity

Description
8.4" Color LCD RezBoost Sounder

Snap on Hard Cover

Mounting Bracket

Mounting Lock Knob

Cable Assy 2m Power/Data
Fuse 2A 125V

LCD Cleaning Cloth

Cable Cap

Flush Mounting Sponge

Flat Washer M4

Wing Nut M4

Spring Washer M4

Threaded Rod M4x50

Tapping Screw 5x25

Operator's Manual FCV628/588
Multi-Language Operator's Guide
Flush Mounting Template
Environmental Data Sheet

Page 1 of 1

1

P P PP DMDAMDAMDANDMNMNRPRPREPRENRRLRPREPR

For Internal Use Only

Serial No.

Checked By:
Tech
Date
FCV588
Yes Remarks

SP02-05001
FP02-05601
CP02-07901




	Sheet1

